
HDW1401  REV. 0 

 
131 County Rd. 34 E. Jackson MN, 56143   1.800.446.8222 

www.eagleplows.com 

 

PART# 2835 Yamaha Rhino Plow Mount 

Hardware:  

(4) 5/16” x 1” Bolts   (4) 5/16 x 3-3/4” Bolts  (8) 5/16” Flat Washers  

(8) 5/16” Lock Washers  (2) Front Clamps U-shaped  (2) Rear Mount Clamps (Flat) 

(2) 3/4” Pins    (2) Hair Pin Clips 
 

Plow Mount Installation: 

Overview: The plow mount on this model mounts to the front of the machine and also attaches to the bottom 

between the suspension arm and front drive shafts, shown in the illustration.  

STEP 1: Start by placing the U-shaped clamps around the top of the front bumper tube,  

STEP 2: Place the mount plate on the front of the machine as shown, start the four 5/16” x 1” bolts, flat 

washers and lock washers through the plate and into clamps.  

STEP 3: Adjust plate to fit on the machine and hand tighten front mount bolts to hold everything into position. 

STEP 4: To mount the back you will need to drill the two inside holes of the mount plate. Use a 5/16” drill bit 

and the plow mount for a template and drill two holes in the plastic skid plate,  

STEP 5: Place the two rear mounting straps over the front frame, (see illustration) start the four 5/16 x 3-3/4” 

bolts, lock washers and flat washers, adjust plate for best fit then tighten the eight bolts. 

Attaching Push Tube to the Plow Mount: 
STEP 1: Roll the UTV over the Push Tube Assembly.  

STEP 2: Lift the Push Tube up to the Plow Mount and line the holes up on the Push Tube and ears on the Plow Mount. 

STEP 3: Insert 3/4” pins into the holes and snap the Hair Pin Clips into the 3/4” pins. 

STEP 4: Attach the Lift System of choice and the plow is ready for use. 

Removing the Push Tube and Plow Mount: 
Reverse the previous steps to remove the Push Tube. Once the 3/4” pins are removed, place back into the holes on the 

Push Tube Assembly with the Hair Pin Clips so they are not lost when the plow is not in use. 

 

                  


